Addition (With Regrouping)

Interchange the ten's and one's digit and add the
numbers obtained after interchanging the digit.

5078 and 2364 a) 6254 and 1983
50 ¢ F
T2 =24 6
F 4 =23

1094 and 2817 c) 3647 and 2083

J/ .

3195 and 1028 e) 4691 and 2059

2403 and 4129 g) 1694 and 2837

6580 and 3294 | [ i) 3167 and 6460

J/ .
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Adding 10, 100 and 1000

Fill in the missing numbers.

Count by Count by Count by
10 100 1000

i ) b) 0

(2808 ) > )
(w0 ) ( ) )
V( 4420 ) ( ) ( 6078 )
(=2 ) ) )
: 4440 : ( 3298 ) | ( )
c) H d) H e) H
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